
Detail A ( 1 : 10 )

Detail B ( 1 : 10 )

Detail C ( 1 : 10 )

Detail D ( 1 : 10 )

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

5136700

Scale

A3 - 1 : 50

This drawing is our property and must not be used, copied, or made 
available to others without our consent.

Reference:
C:\Vault Workspace\Designs\03 Trafikk\EIN NY VÅR\Midtrekkverk\Safeline-M\14

 Nedføring\5136700

Constr./Drawn by

gk27.04.2019

Date

Calculation Approved by

Safeline-M Median Barrier
Downlead 12m with spike 2m

Replacement 
for

Replaced by

Revision

C

Sheet 
no

1 /1 

 0,1 kgBolt M16x30 with rounded head617693615

(4 per Kit 

61780)

0,1 kgFlange nut DIN 6923 M16 8 Isofit 

 HDG

6923160006011

(4 per Kit 

61780)

0,1 kgBolt M16x30 with rounded head, 

8.8 HDG

617692410

Kit 617800,7 kgSafeLine M: Mini C 65 UBH6178758

Kit 617802 kgTop plate6178657

 4,5 kgJoint plate for downlead 12m6179016

 4,5 kgJoint plate6176815

 8,1 kgBeaver tail short spike fixing6179314

 11 kgC-post 120 L=13006170053

 52,6 kgOval open profile 200x100x3 

L=5995 cc1

6179222

 67,3 kgSpike L=2000892052011

RemarksMassMaterial typeArt. nr.Qty.Pos

Detail A

Detail B

Detail C

Detail D

12340

2000 2000 2000 200 3347
6
0

0

5
3

2

4
5

2
P

o
s
t 

to
p
 o

v
e
r 

g
ro

u
n

d
 

3
7

1

5995

5995

2
9
1

2
1

1

6
1011

Total mass: 270 kg

2

2

2

3

5
2

15 11

10 11
4

1

2
0

0
0

2

n178

15 11

7

8

Rev. Zone Revision description Sign. Date

A D1 + BOM Added Detail D and Kit 61780 GK 07.05.2019

B BOM, table Pos. 10, 11 + logo GK 14.05.2019

C BOM Bolt M12x25 art. no AT 10/4/2019

Assembly details: see drawing 5135700M.


